
SEE 
STEP 2

3-1/4" [82.6 mm]

1-5/8" 
[41.3 mm]

4-5/8" [117.5 mm]

MIN 3" 
[76.2 mm]

 
MAX 4-1/2" 
[114.3 mm]

1-1/8" 
[28.6 mm]

1-3/4" 
[44.5 mm]

ADJUSTMENT
FLATS FOR

5/16" WRENCH

1-3/4" 
[44.5 mm]

1-1/8" 
[28.6 mm]

MIN 3" 
[76.2 mm]

 
MAX 4-1/2" 
[114.3 mm]

PARTIE PLATE DE
RÉGLAGE POUR
CLÉ DE 5/16"

 

1-5/8" 
[41.3 mm]

3-1/4" [82.6 mm]

4-5/8" [117.5 mm]

CCCC----999999994444    HHHHAAAANNNNGGGGEEEERRRR                                                                                            

KKKK....NNNN....    CCCCRRRROOOOWWWWDDDDEEEERRRR    MMMMFFFFGGGG....    IIIINNNNCCCC....
1220 BURLOAK DRIVE
BURLINGTON, ONTARIO, CANADA, L7L 6B3
TELEPHONE: 905-315-9788 - FAX: 905-315-8090
TOLL FREE FAX: 1-800-567-0123

KKKK....NNNN....    CCCCRRRROOOOWWWWDDDDEEEERRRR    IIIINNNNCCCC....
210 EIGHTH STREET SOUTH
LEWISTON, NEW YORK, U.S.A. 14092
TELEPHONE: 1-716-754-8247
TOLL FREE FAX: 1-800-567-0123

WEBSITE: www.kncrowder.com --- E-MAIL: customerservice@kncrowder.com

PPPPAAAARRRRTTTTSSSS    LLLLIIIISSSSTTTT
C-994 HANGER 
(2 PER DOOR)

#10 X 1-3/4" 
FLATHEAD SCREWS 
(4 PER HANGER)

C-994 STUD BOLT
(1 PER HANGER)

SSSSTTTTEEEEPPPP    1111
DETERMINE DOOR SIZE/HEADER HEIGHT BASED ON DIMENSIONS SHOWN IN 
DETAIL VIEWS AND CLEARANCE REQUIRED BELOW DOOR. NOTE: DUE TO STUD 
LENGTH, THE C-994 HANGER IS USUALLY INSTALLED FULLY ASSEMBLED ON 
THE DOOR.  THE COMPLETE ASSEMBLY IS THEN "LOADED" ONTO THE TRACK 
FROM ONE END.  FOR BI-PARTING APPLICATIONS IT IS RECOMMENDED THAT 
THE TRACK BE INSTALLED IN TWO PIECES.  MOUNT ONE PIECE  TO THE 
HEADER, LOAD BOTH DOORS INTO TRACK, AND THEN INSTALL SECOND 
LENGTH OF TRACK. 
SSSSTTTTEEEEPPPP    2222
A) LOCATE CLEARANCE HOLE FOR HANGER STUD 4-1/2" FROM EACH EDGE OF 
DOOR.  DRILL WITH 1/2" BIT AT LEAST 2" DEEP.  IF USING KNC CAS-2 DOOR 
STOP, LOCATE CLEARANCE HOLE 5-1/2" FROM EDGE OF DOOR.
B) CENTER TOP PLATE OVER HOLE, MARK SCREW HOLE LOCATIONS AND 
PRE-DRILL WITH 1/8" BIT AT LEAST 1-1/2" DEEP.
SSSSTTTTEEEEPPPP    3333
MOUNT TOP PLATE ON DOOR AND SECURE WITH #10 X 1-3/4" FLATHEAD 
SCREWS (4 PER TOP PLATE). INSERT C-994 STUD BOLT INTO HANGER AND 
PLACE A 3/8" HEX NUT ON BOLT.  INSTALL BOLT THROUGH TOP PLATE AND 
SPINWHEEL. 
SSSSTTTTEEEEPPPP    4444
PREPARE DOOR FOR INSTALLATION OF OPTIONAL PRODUCTS 
IF PURCHASED SUCH AS GUIDE CHANNELS, CUP PULLS, DOOR 
LOCKS, ETC.  INDIVIDUAL INSTRUCTIONS ARE 
PROVIDED WITH THE RESPECTIVE PRODUCT.
SSSSTTTTEEEEPPPP    5555
LOAD DOOR(S) ONTO TRACK AND SECURE 
TO HEADER.
SSSSTTTTEEEEPPPP    6666
ADJUST DOOR HEIGHT AND PLUMB VIA 
SPINWHEEL WHILE USING A 5/16" WRENCH
TO HOLD BOLT FROM ROTATING.  LOCK 
ADJUSTMENT BY TIGHTENING HEX NUT 
AGAINST TOP PLATE. 

FOR C-104 OR C-108 TRACK
INSTRUCTION SHEET

KKKK....NNNN....    CCCCRRRROOOOWWWWDDDDEEEERRRR    IIIINNNNCCCC....
210 EIGHTH STREET SOUTH
LEWISTON, NEW YORK, U.S.A. 14092
TELEPHONE: 1-716-754-8247
TOLL FREE FAX: 1-800-567-0123

KKKK....NNNN....    CCCCRRRROOOOWWWWDDDDEEEERRRR    MMMMFFFFGGGG....    IIIINNNNCCCC....
1220 BURLOAK DRIVE
BURLINGTON, ONTARIO, CANADA, L7L 6B3
TELEPHONE: 905-315-9788 - FAX: 905-315-8090
TOLL FREE FAX: 1-800-567-0123

WEBSITE: www.kncrowder.com --- E-MAIL: customerservice@kncrowder.com

C-994 SPINWHEEL 
(1 PER HANGER)

3/8" HEX NUT
(1 PER HANGER)

EXTRUDED 
ALUMINUM TRACK
 
      

  C-104          OOOORRRR       C-108

SSSSPPPPEEEECCCCIIIIFFFFIIIICCCCAAAATTTTIIIIOOOONNNNSSSS::::
-LOAD CAPACITY:
350 LBS PER DOOR.
 
-HEAVY DUTY 3/8" 
DIAMETER BOLT
 
-HEAVY-DUTY PRECISION
BALL BEARING WHEELS 
WITH NYLON TIRE.
 
-EASY LEVELING AND
HEIGHT ADJUSTMENT
ACCOMPLISHED BY 
HAND.
 
-FOR BY-PASSING, 
BI-PARTING, POCKET, 
AND SURFACE 
MOUNT/BARN STYLE 
APPLICATIONS. 

C-994 TOP PLATE
(1 PER HANGER)

RAIL EN 
ALUMINUM
EXTRUDÉ
 
      

  C-104          OOOOUUUU       C-108

VOIR
ÈTAPE 2

POUR RAIL C-104 OU C-108
FEUILLE D'INSTRUCTIONCCCC----999999994444    CCCCHHHHAAAARRRRIIIIOOOOTTTT                                                                                        

LLLLIIIISSSSTTTTEEEE    DDDDEEEE    PPPPIIIIÈÈÈÈCCCCEEEESSSS
C-994 CHARIOT
(2 PAR PORTE) C-994 PLAQUE DE 

FIXATION DU HAUT 
DE LA PORTE 
(1 PAR CHARIOT)

C-994 ROUE 
TOURNANTE 
(1 PAR CHARIOT)

#10 X 1-3/4" VIS À 
TÊTE PLATE 
(4 PAR CHARIOT)

3/8" ÉCROU 
HEXAGONAL 
(1 PAR CHARIOT)

C-994 BOULON
(1 PAR CHARIOT)

SSSSPPPPÉÉÉÉCCCCIIIIFFFFIIIICCCCAAAATTTTIIIIOOOONNNNSSSS::::
-CAPACITÉ DE CHARGE: 
350 LIVRES PAR PORTE
 
-BOULON  ROBUSTE DE 
3/8" DE DIAMÈTRE
 
-GALETS ROBUSTES À 
ROULEMENT À BILLES 
AVEC PNEU EN NYLON.
 
-NIVELAGE ET RÈGLAGE 
DE HAUTEUR FACILEMENT
EXÉCUTÉS À LA MAIN.
 
-POUR PORTES À CONTRE 
SENS, À DOUBLE 
VANTAIL, ESCAMOTABLES
ET APPLICATIONS 
MONTÉES EN FAÇADE.
 

ÉÉÉÉTTTTAAAAPPPPEEEE    1111    
DÉTERMINER LA TAILLE DE LA PORTE ET HAUTEUR DU MONTANT EN S'APPUYANT SUR 
LES DIMENSIONS PRÉCISÉES SUR LES ILLUSTRATIONS ET EN TENANT COMPTE DU 
DÉGAGEMENT REQUIS SOUS LA PORTE. NNNNOOOOTTTTEEEE::::  À CAUSE DE LA LONGUEUR DU BOULON, 
LE CHARIOT C-994 EST NORMALEMENT INSTALLÉ COMPLÈTEMENT ASSEMBLÉ SUR LA 
PORTE.  L'ASSEMBLAGE COMPLET EST ALORS INTRODUIT DANS LE RAIL PAR UN CÔTÉ.  
POUR LES APPLICATIONS À DOUBLE VANTAIL, ON RECOMMANDE L'INSTALLATION DU 
RAIL EN DEUX PARTIES.  FIXER UNE PARTIE AU MONTANT, INTRODUIRE LES DEUX 
PORTES DANS LE RAIL, ENSUITE INSTALLER LA DEUXIÈME LONGUEUR DE RAIL.
ÉÉÉÉTTTTAAAAPPPPEEEE    2222
A) REPÉRER LE TROU POUR LE BOULON À 4-1/2" DE CHAQUE BORD DE LA PORTE. 
PERCER AVEC UNE MÈCHE DE 1/2" UNE PROFONDEUR D'AU MOINS 2".  SI LE BUTOIR 
KNC CAS-2 EST UTILISÉ, REPÉRER LE TROU À 5-1/2" DU BORD DE LA PORTE.
B) CENTRER LA PLAQUE DE FIXATION DU HAUT DE LA PORTE SUR LE TROU, 
MARQUER L'EMPLACEMENT DES VIS ET PRÉPERCER  UNE PROFONDEUR D'AU 
MOINS 1-1/2" AVEC UNE MÈCHE DE 1/8".
ÉÉÉÉTTTTAAAAPPPPEEEE    3333
FIXER LA PLAQUE DE FIXATION DU HAUT DE LA PORTE SUR LA PORTE ET LA VISSER 
AVEC DES VIS À TÊTE PLATE  #10 X 1-3/4" (4 PAR PLAQUE).  INSÉRER LE BOULON 
C-994 DANS LE CHARIOT ET PLACER UN ÉCROU HEXAGONAL DE 3/8" DE DIAMÈTRE 
SUR LE BOULON.  INSTALLER LE BOULON DANS LA PLAQUE DE FIXATION DU HAUT 
DE LA PORTE ET DANS LA ROUE TOURNANTE.
ÉÉÉÉTTTTAAAAPPPPEEEE    4444
PRÉPARER LA PORTE POUR L'INSTALLATION DE PRODUITS OPTIONNELS SI 
ACHETÉS TELS QUE RAILS DE GUIDAGE, POIGNÉES 
ENCASTRÉES, SERRURES, ETC. DES DES INSTRUCTIONS 
PRÉCISES ACCOMPAGNENT LES DIVERS PRODUITS.
ÉÉÉÉTTTTAAAAPPPPEEEE    5555    
INTRODUIRE LA (OU LES) PORTE(S) DANS LE 
RAIL ET ATTACHER AU MONTANT.
ÉÉÉÉTTTTAAAAPPPPEEEE    6666
AJUSTER LA HAUTEUR DE LA PORTE ET LE 
NIVELAGE AU MOYEN DE LA ROUE TOURNANTE 
TOUT EN UTILISANT UNE CLÉ DE 5/16" POUR TENIR 
LE BOULON ET ÉVITER AINSI QU'IL NE TOURNE. 
BLOQUER LE RÉGLAGE EN SERRANT L'ÉCROU CONTRE 
LA PLAQUE DE FIXATION DU HAUT DE LA PORTE.


